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If the Agent chooses He  with both contracts A and B,  then both Principal and Agent 
strictly prefer B to A.  

Both Principal and
Agent prefer B to A

so A i not Pareto

efficient
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If the Agent chooses Le  with both contracts E and F,  then both Principal and Agent 
strictly prefer E to F.  
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The only two candidates for Pareto efficiency on the û -utility locus are C and D̂ .   
Which of the two is Pareto efficient depends on how the Principal ranks them: 

ˆ  if    PD C    

ˆ  if    PC D   

i

ñ

then D is the only Pareto efficient contract among the ones
that give no Agentutility I

1 C

if pD both C and D are the only Pareto efficient
contract
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EXAMPLE.  
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Find a Pareto efficient contract that gives utility 8 to the Agent. 
 

The

in 8

in in Agent loose e 1 Va D T 1

Fm 1 8 Fm 9
81,81

in 81

W wz belongs to both blue and red in d curves for utility 8

on blue i.e e zl Fi 2 Fw 2 8

on red line e i Fw 1 r t 8



Solution W 60.84 Wz 104.04

Evp C 1300 60.84 500 104.041 382.8

Eup B 300 81 f 500 81 31

i the only Pareto efficient contrast

among those that give the Agent utility 8



Principal-Agent optimal risk sharing with zero initial wealth 
 

Constrained Pareto-efficient contracts  

on the sides of the Edgeworth box 
 

CASE 1: the Principal is risk averse, the Agent risk neutral 
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CASE 3: both Principal and Agent are risk averse 
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